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(I) Explain why an nmos pass transistor produces a poor 1. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(II) Implement the following in CMOS using the smallest number of transistors 
assuming the availability of inverted inputs: 

(i) Y= A C` B + A` B` C` + A B` C + B C A` 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 

(ii) Y= A B C + A B D + E C + F D + E D + C F 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(III) Calculate the threshold voltage of an  nmos transistor assuming VSB=2 
volt, VT0=0.7 volt,          =0.5 volt1/2 ,         =-0.3 volt.   
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